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Menoufyia University ' w% PreparatoryFinal ExamJan.2019

Faculty of Electronic Engineering Pime Allowed: 2 Hrs.

7

Communication Skills and Effective Presentation .

Part One( 3 Pages)

Q1-) Multiple Choice Questions, ( 18 Point
Circle the right answer for each question.

1. Which of these is the most important tool of communication?
a) Body language "
b) Gestures
¢) Language
d) Posture

2. Which of these is not important in an oral presentation?
a) Words
b) Body language
c) Gestures
d) The number of people as audience

3. In an oral presentation, the speaker should not
a) panic
b) pause
c) make eye contact
d) inspire

4. A speech must always present
a) facts
b) opinions
c) suggestions
d) perspectives

5. Which of these must be avoided by the speaker?
a) He must convey precise information.



b) He must ensure that the information is understood by the audience.

¢) He must inspire the audience to totally accept his point of view.
d) He must force the audience to totally accept his point of view.

- 6. Which of these is required to convey large information?
a) Voice
b) Tone
c¢) Body language
d) Preparation

7.1 pay attention to my nonverbal behavior, like facial expressmns and eye contact, to make sure
I stay engaged with the audience.

a) True

b) False

8. When is the communication process complete?
a) When the sender transmits the message
b) When the message enters the channel

¢) When the message leaves the channel
d) When the receiver understands the message

9. Which of these elements is not involved in the process of communication?
a) Pipe
b) Sender
¢) Message
d) Channel

10. The disadvantage of the written word, on a computer screen or in a book
a)is that the receiver cannot evaluate the tone of the message
b) is that the receiver cannot understand the message
c) is that the receiver misunderstood the message
d) is that the receiver cannot give feedback

11. Intrapersonal is
a) Referred to as non-verbal language.
b) Anticipate the questions
c) Signs and language
d) A Communication within a person

12. One of the most important barriers is
a) Extracting the embedded meaning
b) Key element in any human activity.
c) Breaks down
d) An Interpersonal



13. One of the secret of success is
a) An Interpersonal
b) Anticipate the questions
c) Uses unacknowledged exaggeration to make a point
d) Foster open communication

&

14. Communication is:
a)Asking specific questions regarding right and wrong
b)Foster open communication
c)Verbal and non-verbal
d) Key element in any human activity.

15. Words besides signs
a) Referred to as non-verbal language.
b)Lack of information
¢)Share all information with everyone, all of the time
d) Give information meaning, rather than just passing it on

16. ) Communication can be subdivided into
a)Foster open communication
b) Lack of information
¢) Vocal or non-vocal

d) Verbal and non-verbal

17. Without feedback the communication process
a)Limit the number of people you communicative with regularly
b) Extracting the embedded meaning
c)Breaks down

d)Hide negative information

18. Communication is the act of conveying intended meaning to another person through the use
of mutually understood
a)Signs  and language
b) Confined to the verbal form of communication
¢) Confined to the written form of communication

d) Determine which information is necessary and which is unnecessary so that the receiver
understandsthe message

Dr /Mahasen Omar
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Menoufia University Faculty of Electronic Engineering
Prep. Year/1* Semester Final Term:- English Language
Date:- January 16, 2019 ‘ Time:-One Hour

Note:- (Dictionaries are not Permitted):- (The Exam includes this paper and its back)

Question (1) On the Answer sheet Fill the Circle A for the Proper Sentence and B
for the Wrong One.

1) Logical reasoning and physical fitness are Professional abilities.

2) English and French are natural languages.

3) Most of the computer Programming Languages are low Level.

4) Commercial online service helps to access massive databases.

5) To apply for a Job you need only to submit your CV and the cover Letter.

6) http://www.oscars.org/ enables you to make flight reservations.

7) Encoding means decryption while decoding means encryption.

8) To end a question you should put the two Punctuations Marks ?.

9) Lisp, ADA and Prolog are not Al computer Programming Languages.

10) Animation means motion of objects in two dimensions.

11) Most of the operating systems are text based.

12) You cannot construct a complete DSP Lab. Using one unit of FPGA.

13) Unix is the most preferred OS for CAD applications.

14) System utilities not only includes virus detector but also screen saver.

15) http://www.ibm.com/ enables you to read about films and awards.

16) Your éarrier now is postgraduate student.

17) The summation of internet is the intranet.

18) The relaxing atmosphere includes only music and light.

19) The two terms hackers and Crackers have the same meaning.

20) Cookies are small files used by web servers to know if you have visited their site
before.

21) Attachments enable you to protect and keep your e-mail private.

22) The worm and the virus have the same function.

23) The past simple is constructed by verb to be in the proper tense and the pp of the root verb.

24) A cybercafé is a café where you can only access to the internet.

25) The prefix ”inter” means among.




26) The prefix up is the opposite of the prefix de.
27) Most of the OS are written in Pascal Programming Language.
28) The modem is a device acts as adaptor.
29) Multimedia includes only text and sound.
30) No standard protocols are used for writing either your CV or the cover letter.
31) Applets and subprograms have the same meaning.
32) Examples of DTP programs are QuarkXPress and Photoshop.
* 33) Efficiency means the input/ output.
34) Professional abilities includes both the educ:_ational carrier and the experience.
35) The life cycle for constructing a package includes only analysis, design and coding.
36) The Junior programmer should have experience at least five years.
37) The passive is constructed as verb to be on the proper tense and the past participle of
the main verb.
38) The internet have only positive faces.
39) If you work hard you should succeed.

40) Some prepositions show where something happens ( at, on, during ,by, before).

(10 Marks)

Question (2) On the Answer sheet Fill the Circle A or B or C for the Proper Answer,

41) SET is an abbreviation for a) Security b) Sequential c¢) Secure Transaction

42) Transceiver is an abbreviation for a) Transmitter andReceiver b)Transmitter/ Receiver c) Neither A or B

43) FPGA is an abbreviation for a) Field Pass Gate Array b) Field Programmable Array c) Neither A or B

44) Modem is an abbreviation for a) Modulator and Demodulator b) Modulator/Demodulator c) Neither A or B
45) Mega is equalto a)lE4 b)1E-6 c) 1E6

46) Up isinverse to a)down b)de c)both of them

47) http://www.oscars.org/ enables you to see  a) films b) computers c) both of them

48) Most of the operating systems are a) Machine dependent b) Machine independent c) Neither A or B

49) An intranet is a) small version of the internet inside a company b) A commercial online service c) Neither A or B
50) Most of the OS are written using a)Pascal b) Fortran ) C Family

51) The QAU in our faculty targets a) Student b) Professor c) Both of them and the Installations

52) IP is an abbreviation for a) Internet Protocol b) Internet Processing c) Neither A or B

53) Java is used for developing a) Static WebPages b) Dynamic WebPages c) Both of them

54) Protocol means a) Set of rules b)Set of Regulations c) Both of them .

55) LOGO is characterized by a) Good GUI  b) very Quick c) Both of them.

(7.5 Marks)

With my Best Wishes:- Professor El-Sayed M. El-Rabaie
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Final 1°*Term Exam
Logic design

Date: 6-1-2019
Time: 180 min

Number of papers: 2

Menoufia University

Faculty of Electronic Engineering
Department of Computer Science elEny.,
Preparatory year

Sl (s g 501 138 Ala) Tl (Part 1)

1-Answer the following questions:
1-(a) What is the range of signed and unsigned decimal values can be represented using
10 bits?

1-(b) Complete the missing parts
(23)10= (-.-)2=(--.)s=(- )16
(44.16)=(.......... | T —— )16

(13)10=(-evvevee. ) 7775 o (LT Ex-3=(. . . Dgray
(10 degree)

2- (a) Perform the following operations in 2's complement system. Use 8 bit (including
the sign bit) for each number. |
- Add +16 to -18

- Subtract +22 from -18

- Subtract -22 from -18

2- (b)Subtract 17 from 23 using normal subtraction, and 1's complement method

(10 degree)

3-(a) Minimize the following equation using Boolean Algebra
X=(C+D)+A C D+ A BC + ABCD+ ACD

3-(b) Draw the circuit diagram of the following equation:

X=ABC+A (B+C) +ABC+BC)

Then simplity the above equation using K-Map,
Then draw the circuit diagram of the obtained simplified equation.

(10 degree)

With my best wihes

Prof. Nawal EFFishawy

B il biad qubl a




University :  Menoufia Date : 6/172019

Faculty : Electronic Engineering Time : 3 Hours

Department :  Comp. Science & Eng. @ No. of pages : 2

Academic level : Prep. Year, 1% term Full Mark  : 60 Marks

Course Name : Logic Design Y Exam ¢ First term Final Exam

Course Code : CSE 324 et Examiner  : Dr. Ahmed Shehata
Part 11

Cpaall (e 83201 138 dila) T (Part 1)

Answer the following questions
Question number 1:

a. According to JK flip Flop and the timing diagram Shown, draw the output Q of the flip

flop. Assuming Q=0 at start. ( 5 Marks)
0 o
’ )
o] .
— | QF
D E—— 4 pEE
<] . T
o o K Q-

b. Construct a 3 to 8 line decoder by using 2-to-4 line decoder, active low output and a
single active high enable. (5 Marks)

Question number 2:

a. Design an asynchronous modulo 6 counter using JK flip flop -ve edge triggered
(5 Marks)

b. Design a counter with T flip-flops that goes through the following binary repeated
sequence: 0, 1, 3, 7, 6, 4. Show that when binary states 010 and 101 are considered as

don’t care conditions. (5 Marks)

Question number 3:

a. Draw a parallel input serial output 3-bit shift register circuit diagram and

implementation. ( 5 Marks)
b. Implement a 4-bit bidirectional shift register using a signal that control the shift
direction. ‘
( 5 Marks)
With my best wikes
Dr. Ahmed Shehata



Menoufia University Engineering Physics (1)

Faculty of Electronic Engineering Properties of Matter
Physics & Math Department Time Allowed: 90 minutes

Preparatory Year Sty Vvarniir Max. Degree: 45
1** Term Final Exam Date: 2:1:2019

aul) At F "y

1- What are the dimensions and the SI units of: (10 Marks)
(a) Coefficient of Elasticity (b) Torque
(c) Permeability po (d) Surface Tension

(e) Viscosity
2- a) Draw the relation between applied force versus elongation for a
typical metal under tension. (5 Marks)
2- b) Define: (a) Stress (b) Strain
(¢) Young’s Modulus (3 Marks)
3- What’s meant by (give an example): (10 Marks)
(a)Bulk Modulus (b) Rigidity Modulus
(c) Shear Modulus (d) Safety factor
d 4- a) Write down the Bernoulli's equation. (2 Marks)
E 4- b) State the characteristics of the ideal flow. (6 Marks)

5- a) State Archimedes principle. (3 Marks)

5- b) Write short notes about: Laminar and Turbulent Flow.
: (6 Marks)

zé,.i,,yJJ/ Jeana plice o f Cla.afljd‘,ﬁﬂfbuﬁ'yu/udh &
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Faculty of Electronic Engineering
Time allowed: 60 Minutes Full Mark: 15 Marks
Examiner: Dr. Osama Zahran No. of Pages: 4
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Y.0 Introduction to Quality Final Exam
Date 30/12/2018
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Engineering Chemistry -
Menoufia University Final Exam
Faculty of Electronic Marks=90 marks
Engineering (45 marks for part two)
Phy and Mat Eng . 27 Dec 2018 Time: 3 hr
Dept. Prep. Year

Part 2: Ass. Prof. Khalid Mahmoud Hassan
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First question: Solve the following problems: ) ‘ (30 Marks)
1- The radius of a vanadium atom (V) is 1.31 A° calculate the density of (10 Marks)

vanadium (in g/cm’) if it belongs to the three crystalline cubic structures. And if the density of
vanadium was found to be 6.1 g/cm’, what is the crystalline structure of it? (Knowing that; V =
50.9, Avogadro’s number = 6.02 x 102, A° = 10" cm).

2- Write the balanced equation for the following reactions: (10 Marks)

a- O, + Sb—> H,;0, + ShOy in basic solution
b- HCOOH + MnO4s —> CO; + Mn*" in acidic solution

3- Calculate [OH'] for 1 mM solution of a weak base methylmine, whose k,= 4.4X10%, (10 Marks)
What is the percentage of ionization of the base?

Second question: Answer the following questions: (15 Marks)

1- Is it possible to deserve zinc sulphate (ZnSOy) in a container made by aluminum (ADH? (8 Marks)
Knowing that: E tea (AI"”*) = - 1.68 V, E Tea (Zn**) =- 0.76 V. (You have to make the overall equation).

2- Put(Y)or (X) in front of the following sentences: (10 Marks)
AV A S b b o) dalal g Jigual] b, LS 1 glhaa
1- Galvanic cell is an electrochemical cell that uses equilibrium reactions to produce electricity
spontaneously.
2- The smallest possible part of crystal lattice which equals to one particle and determines the
structure is always called unit cell.
3- Amorphous solids are substances possess long-range order of atoms positions.
4- An acidic solution is characterized by having high value of pKa.
5- Potential difference is the ability of a system to do work due to its position.
6- Monoprotic acid contains only one proton per molecule which can be ionised in aqueous solution.
7- When the battery is finished, so E°.q equals zero.
8- E ca value could be +ve , - ve or zero.
9- Any substance that dissociates and produces ions is always called strong electrolyte.
10- Cathode is the negative electrode and it is the source of electrons.
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Menofia University Engineering Chemistry

Faculty of Electronic Final Exam Marks=90 marks
Engineering Code: 007 2
Dept of Phy and Math 27-12-2018 Time: 3 hr
Engineering
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PART (1
First question (15 Marks)
Choose the correct answer:
Al LY e g, cslb sla ciall dalef g Jadd ) guad) a8 s

1- Predict the ordering of the boiling points of the following substar;ces:

(i) CH30CH; (i) CH3;CH,OH (ui) CH3CH,NH,;

(a) iii > i > ii (b) ii > iii > i (¢)i>ii>iii (d) iii > ii > i

2- What is the intermolecular force in MgCl, (aqueous) At Jslsa?

(a) ion—ion (b) ion—dipole (c) dipole—dipole (d) hydrogen bonding

3- The purpose of a pentavalent impurity to a pure semiconductor is:

(a) Reduce the conductivity of silicon (b) Increase the number of free electrons
(¢) Increase the number of holes (d) Create minority carriers

4- Hybridization of the two carbon atoms in ethylene CH,=CH, molecule is a type of.....
(a) sp (b) sp® (c) sp’ (d) sp*d”

5- When the unhybridized atomic orbitals overlapping side by side the formed bond is:
(a) Sigma. (b) Pi. (¢) Coordinate. (d) Yonic
6-The number of orbitals produced when two atomic (p) orbitals hybridized with one (s)
orbital is ......

(a) Four (b) Three (c) Two (d) Five
7-1In “n” type semiconductor material, majority carriers would be:

(a) Holes (b) Dopants (¢) Electrons (d) Ions
8-The bond formed between ammonia NH; and hydrogen ion (H+)t0 give ammonium ion
(NH4+) | J———— bond

(a) Ionic (b) Covalent (¢) Coordinate (d) Metallic

9-Which of the following best describes all the intermolecular forces exhibited by a pure
sample of CH;NH,? _

(a) dipole-dipole and hydrogen bonding. (b) Dispersion and hydrogen bonding.
(¢) Dispersion, dipole-dipole, and hydrogen bonding. (d) Dispersion and dipole-dipole.




3-When a B3 (beta) particle is emitted <= from the nucleus a proton changes into a neutron.
4- The types of hybridization for carbons 2 CH—=CH,
with number 1, 2, 4 of the following compound |

: CH.——CH,—CH, ——C=—=CH
are spz,mand sp3 respectively. 3 1 ’ 3 ’ 4

5- Covalent bond is formed between metals and non metals when the electro-negativity
difference is more than 1.7.

P N
6- The following diagram represents P-N ook e BB L %
junction which is known as + 4+ 4+B- - -
“ reverse biased pn junction ”. + 4+ «}: - i
R e

7- A trivalent impurity is added to a pure silicon hole tiectrons
to create an n-type semiconductor . : “

v

8-The bond between hydrogen and oxygen
atoms within a water molecule (H,0) can be
characterized as: hydrogen bond .

9-Relative strength of intermolecular forces is arranged as follows;
lon-Dipole < London dispersion force < Dipole-Dipole < H-bonding

10- If 100.0 g of carbon-14 decays until only 6.25 g of carbon is left after 11460 years, the
half-life of carbon-14 will be 1432.5 vears.

Third question (15 Marks)

(A)Write the scientific term for the following sentences: (3 Marks)

1-It is a type of bond formed between two non-metals atoms, one of them has lone pair of
electrons (called donor) and the other has vacant orbital (called acceptor).

2- A process in which the nucleus of a large radioactive atom splits into 2 or more smaller
nuclei caused by a collision with an energetic neutron.

3-The process of adding impurities to an intrinsic semiconductive material in order to
control its conduction characteristics.

(B) Predict the ordex of increasing boiling points for the following compounds:
H,S; H20; CHy; Hy; NaCl (2 Marks)

(C)- Identify 24> the type of bond in the following compounds: (2 Marks)
(1) Between H,O molecules.
(2) Between HCI (gas) molecules.

(D)-Write the equation for the nuclear reaction described in each of the following processes:

3



(3 Marks)
(1) Chromium-51 ( 31 Cr ) undergoes electron capture.

(2) Technetium-99 ( 33Tc ) (excited) undergoes gamma decay.

(E)- Name the type of bond within the following compounds. (3 Marks)
(1) N» (2) NaCl
(F)- Compare between: (2 Marks)

Intrinsic and extrinsic semiconductor.

6 ~————+— Atomic Number = Number of Protons = Number of Electrons 2H§>
HELIUM
' ~——t— Chemical Symbol N@N’METALS 4
5 (6 g7 <8 B9 D10 I
CARBON -=— Chemical Name B C N O F Ne
1 2 ~——— Atomic Weight = Number of Protons + Number of Neutrons *‘01“10“ C"i‘g"” ”"‘}?f*"” ‘”‘rg"” FL“{’;‘NE ”;‘6"

T3 O|4 G5 0|6 o7 518 &
Al Si | P | S |Cl|Ar
M ET A LS A[.Ug’]yNUM sné%aw Pnosgx-;onus SU;:;UR cx»u%zms ATSN

2 a2 A A O% B B[R mn o0 0B 832 033 Opd 035 636 o
Ti | V |Cr Mn|Fe|Co|Ni | Cu| Zn | Ga Ge|As| Se | Br | Kr

TITANIUM | VANADIUM | CHROMIUM [MANGANESE| IRON COBALT NICKEL COFPER ZINC GALLIUM |GERMANIUMf ARSENIC | SELENIUM | BROMINE | KRYPTON
48

51 52 55 56 59 59 64 65 70 73 75 79 80
40 )41 3142 9143 Bl44 D45 D46 D47 O[48 D49 50 D51 @52 |53 54 O
Zr |[Nb Mo | Te [Ru |/ Rh|Pd |Ag [Cd | In |[Sn | Sb|Te | I | Xe

ZIRCONIUM | NIOBIUM | MOLYRDENUM | TECHNETIUM |RUTHENIUM| RHODIUM |PALLADIUM| SILYER | CADMIUM | INDIUM ANTIMONY | TELLURIUM | IODINE XENON
91 93 96 |4 98 % 101 103 106 108 112 115 119 122 128 127 131

72 873 aiia 8l ol o7 i 679 s 681 982 e384 DI85 |se LD
*
Hf |Ta | W |Re | Os | Ir | Pt |Au | Hg | Tl Pb | Bi | Po| At | Rn
HAFNIUM | TANTALUM | TUNGSTEN | RHENIUM | OSMIUM | IRIDIUM | PLATINUM | GOLD | MERCURY | THALLIUM | LEAD | BISMUTH | POLONIUM | ASTATINE | RADON
178 181 184 186 190 192 195 197 201 204 207 209%] 20940 21048 2224

104 [105 G106 (107 9108 {109 {110 D111 B2 G113 G4 Gi1s e 117 118 £
Rf | Db | Sg | Bh | Hs | Mt | Ds | Rg | Cn | Uut |Uuq|Uup |Uuh| Uus|Uuo

RUTHERFORDIUM | DUBNEUM  |SEARORGHUM] BOHRIUM | HASSEUM |MEITNERIUM| DARMSTADTIUM |ROENTGENIUM| COPERNICIUM | UNUNTRIUM |UNUNQUADIUM [UNUNPENTIUMIUNUNHEXIUM| UNUNSEPTIUMBUNUNOCTIUM

267 % h 270 % 4 2714 & 274 % & 2774 % 278 %8| 4 281 40| 4 281 4% & 285 % 4 286 %[ 4 289 43| 4 289 41| 4 291 4| § 294 40| 4 2044

GOOD LUCK
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Sunday 13/1/2019 ‘ Test time: 90 minutes

Answer five from the following questions

I,

ot

(a) Solve the inequality |3z — 5| > 7 and express the solution in terms of intervals

whenever possible.

(b) If f(z) = z*+ 1 and g(z) = vz — 16, find the composite functions f o g and go f.

2
= 8
Sketch the graph of the function f(z) = EET&C—;—:— and illustrate h_}rr% f(z) graphically.
— @
1
(a) Show that lim z? cos ( ) does not exist.
z—2 z—2
)
(b) Find the vertical and horizontal asymptotes for the graph of f(z) = 1 xmz'

(a) Find ¢ if y? = z?sin(z + y).

(b) Determine (sinz)®®, hence find 3/ if y = (32° — 1222 secz + (sinz)@)3.

(a) If f(z) = 23 + 2z — 1, prove that f has an inverse function g, and find the slope of
the tangent line to the graph of g at the point P(2,1).

(b) Find the first derivative of z'»°.

(a) Find f'(z) if f(z) = sinh ™' etanbe

(b) Determine all the numbers ¢ which satisfy the conclusions of the Mean Value The-
orem for the function f(z) = 2® + 2z? — = on the interval [—1,2].

(a) Find dw/dt for w = In(u +v); where u = ™2 and v = t® — csct.

(b) If f(z,y) = 2a® + 3y° — 2* — 3z — 4y — 3, find the local extrema and saddle points
of f. '

Mark of every question

[Question [ 1.(a) [ 1.(b) [2-(a) [ 2.(b) [3.(a) [ 3.(b) [4.(a) [ 4.(b) [ 5.(a) [ 5.(b) | 6.(a) 16.(b) |
Mals [ 5 [ 5 | |

[5.(b) |
5 ] 5 | 5] 5] 5] 5] 5] 5165

The full mark is 50

Best wishes Dr. Hassan M. Abdelhafez
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Menofia university — facalty of electronic engineering — English language exam -
time 90 minutes — 16 Jan 2019, 3 pages. Q1 and Q2 will be answered on your paper +
the electronic page as well. Q3 will be answered on your paper only.

Choose the correct answer

Ql1:

1 And now for this evening’s main headline: Britain ...... another Olympic gold medal!
A had won B wins C won D has won

2 He...... the stolen cigarettes onto the back of the lorry when the police arrived.
A loaded B was loading C did load

3 Anne had to pay for everything because, as usual, Peter...... his wallet at home.
A had left B left C was leaving

4 Someone ...... my special sports drink that I bought this morning! The bottle’s half
empty!
A has been drinking B drinks C 1s drinking

S ‘Mark and Penny broke up last month.” ‘Oh no! They ....... out together for vears.’
A have gone B had gone C had been going D are going

6 ‘Have you heard? Sandra sold her flat and bought a houseboat........
A She did what? B What she did? C Did she what? D She what did?

7 The detective in charge of the investigation asked..........

A the two witnesses their names B their names the two witnesses
C the two witnesses of their names D to the two witnesses their names
8 I really object ............. in rooms where other people have to eat.
A people smoking B to people smoke
C people to smoke D to people smoking

9 Chris told Liz that he had a good job with a big salary, buthe ..........

A hadn’t B wasn’t C didn’t D hadn’t got
10 The Smiths had to decide ...... to their daughter’s kidnappers’ demands or bring in
the police.
A if they agree B if to agree
C whether to agree D whether they agree
11, I’'m not fussy. I'lleat ............... kind of fruit or vegetable.
A some B any Call
12 issesans twenty per cent of natural gas used to heat homes in the UK comes from
North Sea.
A Few of B Lesser than C Fewer than D Less than

i/3




Menofia university — faculty of electronic engineering — Iinglish language exam -
time 90 minutes — 16 Jan 2019. 3 pages. Q1 and Q2 will be answered on your paper +
the electronic page as well. Q3 will be answered on your paper only.

13 See the woman over there by the window? Isn’t she the one .......... won the lottery
last week?

A which B whom . C that D what
14 The Transport Minister,......... department the email was apparently sent, has
denied all knowledge of a cover-up.
A from whose B whose C from his D which
15 Detective Chief Inspector Chambers,.......... the laptop was stolen, has posted a
£10,000 reward.
A from which B from who C from whom

16 Ignoring the flashing light bulbs, the three judges walked up the courthouse
SEEPS covwas ]

A in a dignified fashion B dignifiedly
C in a dignifiedly fashion D dignified
17 The s girl snatched the Kitten away from the dog and screamed for her mother.
A feared B afraid C frightened D scary
| . SE— it never recycled any waste materials, the company’s environmental record was
not perfect.
A For B In that C With D Due to
19 If oil supplies...... in the near future, we would find it very hard to meet our energy
needs.
A will run out B were running out
C would run out D were to run out
20 Travelling by coach are cheap. ...... , it can be slow in rush hour traffic.
A Whereas B Although C Nevertheless D While

Q2

21 Andreahada in her hair yesterday.

A-nice yellow bow B-yellow nice bow C-bow nice vellow
22 She lost a .

A-small white cat B-cat small white C-white small cat
23 I bought oranges.

A-great some big B-big great some C-some great big
24 We met people at the conference.

A-very smart two B-two very smart C-very two smart

2/3




Menofia university — faculty of clectronic engincering — English language exam -
time 90 minutes — 16 Jan 2019. 3 pages. Q1 and Q2 will be answered on your paper +
the electronic page as well. Q3 will be answered on your paper only.

25 The clown was wearing a hat. ;
A-big green-yellow ' B-big green and vellow C-vyellow and green big

26  The cookies that you .
A-smell delicious baked B-baked smell delicious C-delicious smell baked

27 Is it Vs
A-cold getting outside B-getting cold outside C-getting outside cold

28  The course you are

A-taking sounds interesting B-sounds interesting
C-taking D-interesting sounds taking
29 My uncle wore a to the wedding,.
A-silk blue tie B-tie blue silk C-blue silk tie
30 Ilave you met that _next door?
A-cute boy new B-cute new boy C-new boy cute

Q3

31. What are the purposes of mind map?

32. What do you need to make a Mind Map? "~

33. Write 6 Steps to Make a Mind Map

34. A What are the advantages of mind maps?

9
wn

Draw a mind-map for your final exam study plan.
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